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Part- A

Answer the following questions

I. Qurmsswrer allenL_ullemears GsMea) CFiis. 20x1=20

Choose the best answers

1. FpdHemTL_unnilev 618 HIewTeRNW) CILITHOTTSTILD FTihb?
9)) SLpg Yo e_avevio o 6T B 2 HLHI] 25% | FlalbgisTens
) sLbS et 9.8 % 2_ewd @i Fohd Ceusmevullsitemio Blewsvls GlLHM)6iTeng)
3)) Gargiemwuilst ailswe 9 Her CHemeusnwt BlienrullsSmg)

) SLbp et Curg allemev 4 % o SsifdgisTeng)

Which of the following is a microeconomics statement?
a) The real domestic output increased by 2.5 percent last year.
b) Unemployment was 9.8 percent of the labour force last year.
c) The price of wheat declined last year.

d) The general price level increased by 4 percent last year.

2. QUTHBST spesTemM HeWTL M.
) “ BrHS6MeT QFV6UBISET LNHMILD &TTERTHRIGENNTS GMbS 6@ alFTTenesr
<) “ QurertgrTrds Casriurbser
@) ‘QurmerTasry Mlallwedler @)uwsvLd BT LpHaluidgeurpld”

) ‘LM memeu TMTS(Hdb &G Curg”



Find the odd one out:

a) “ An inquiry into the nature and the causes of the Wealth of Nations”
b) “ Principles of Economics”

c) “Nature and Significance of Economic Science”
d) “Ceteris paribus”

3. Wereu@yio PPF susnruL gews sresrs (2 pusbg suriiliy Friy)

SILILTEH S &5 T6esT

Gzpemeu j6may

9| AsHTes CHemeuueare)

PPF LiLg&)60 sri_ i (HsTerg,.
B &0 @i A 6@ paiemauiled auriifiyd QFevey wirg?
o)) 5 SIures
=) 10 A
@) 5/10 oA

w) 10/5 gyiiumrs &)

Consider the PPF diagram below.
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Given the PPF illustrated, what is the opportunity cost of moving from B to A?
a. 5 Gun

b. 10 Rice.
c. 5/10 Rice
d. 10/5 Gun.

4. @ wevGLiesT LweTUTL () QY UIeHEN EULPHIG WISV (LS 6IT6WLO I TEsT6U T
9) Ggm. . anfdenv
<) T &3 19 pevesT
@) wriraged

) eivig devit

The chief exponent of the Cardinal utility approach was
a. J.R.Hicks
b. R.G.D.Allen
c. Marshall
d. Stigler

5. 5@ allewev ep. 375 G Ea b wWHMID 2 airewi allewsv cp. 200 G sa b 2 sreng). HmSTCsurt
6TFFLD STV

=) 375
=) 175

@3)) 200
) 50

Given potential price is Rs.375 and the actual price is Rs.200. Find the consumer
surplus.

a) 375
b) 175
c) 200
d) 50



6. @wmha COF GmiFBlensv LwestLr B alHulledpmbg Csemeu ailFlullene Lissreumid
STHS DI TETEIGET Bjig LILIL D auHallssarin?
(i) LwedTLITL 19 6W63T 6TERTEMTATANGD O6Tdd (LpLgUfLD
(i) uewrgglesr LwesTLITL (h LHILIL Bleweowiresrg).
) (i) 1o Gid 1
94) (i) wpmid (i) Grewr@io &f
@) (i) w @ Ff
) (i) wppits (i) @rem® @ saumy

Demand curve can be derived from the law of diminishing marginal utility on
which the following assumptions?
(i) Utility can be measured in quantitative terms
(ii) Utility of money is constant
a) Only (i) is true
b) Both (i) and (ii) are true
c) Only (ii) is true

d) Neither (i) nor (ii) is true

7. Gapi LTL S6ms allardsd gnlgwt 3 CHemeu susnar CHTHEB6T LIL G360

ST ULl (heTerg).
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The diagram below illustrates 3 possible demand curves for Tea.
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Suppose that Tea and Coffee are substitutes. If the price of Coffee increases, which
of the following movements will represent the effect of this in the market for Tea?

a) A to C.
b) A to B.
c) BtoA.
d) Bto E.

8. s Blmisuarid 6 V@GS Hryewilsener LweTLBSS 30 YVGHH6T 2 HLSGF GFiiFDg).
2 DuGHlssTer srremilemw  Guwepid 1 v 2 wisdearmed o pHusbdwrers 42
IV GHETTS In (HEIMGI. FTTEFfl 2_DHudbSlenws HewTdHs (B,

=) 30

In a firm 6- units of factors produce 30-units of the product. When the number of

factor increases by one, the production increases to 42-units. Calculate the
Average Product.

a) 30
b) 6
c) S
d) 24



alldls gjerey allswersy allglwir@n?
9) suemidgg GFev aildls earey aillswersy alld
) GPPHS CFD jera) aflwera) afilgl
Q) wrpr eilalg syere| allweara) allg)
) Guofpam 1 Sjemariid.

Name the returns to scale when the output increases by 3%, for a 5% increase in
the

inputs,

a) Increasing returns to scale
b) decreasing returns to scale
c) Constant returns to scale
d) All of the above

10.  ampmi (A): #w 2 HuGIHF CFevaysCasT®H ChiTbCHTL TS 2 drerg,.

srgewrdo  (R):  @Quew® 2 pusdlésrresilsensd oL Cuurer wrpm  efsbd

O BISTIG U6 BleweOWITS 2_6T6oTSI
o) A womib R Gresr®id #if Cuepib Adsrer sflwrer aflemésip R
<) A wpmid R @) resst®id &l gpesrrsv Adsmer Fiflwmrest aflerdasid R (@)svemsv
B) A sifl gyerred R oum

) A seum) opeormev R &ifl

Assertion (A): An isocost line is a straight line

Reason(R): The market rate of exchange between the two inputs is constant.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is NOT the correct explanation of A
c) A is true but R is false.

d) A is false but R is true.

1. gyref wryb GFevalleneT e (HeusNHTRT FdbdTHens BHevTL M5,
<) TC/Q

<) TVC/Q
@) TFC/Q

#) TAC/Q

Identify the formula of estimating average variable cost.



a) TC/Q

b) TVC/Q
c) TFC/Q
d) TAC/Q

12. Uesreupsussroupewm Clumrms g sflwrer allswL_sener sriiul_(herer GnlufBseaflsv @) mbai

Qe QFiis.
Al EINEE @)miFlBlemev eu el
A.e=1 [. MR -ve
B. e>1 II. MR =0
C.e<1 III. MR +ve
CIL(CE
A B C

a) I I 111
b) I I I
o) 111 I 11
d) I 111 11

Match the following and choose the correct answer using the codes given below

Elasticity Marginal Revenue
A. e=1 I. MR -ve
B.e>1 II. MR =0
C.e<1 III. MR +ve
Code:
A B C

a) I I I
b) I I I
o) I I 11
d) I I 11

13. % 2_pugdlwreri 2_epwriurafluilesr ussflepwils Gup LB CF g @GOl L
QBT HEM W QULPHIGH6UE] Fn 60l YLD — @)ddn DMlewest g Plwreum wiri?

9) GusTaDTLD



) LOT 6136V
(3)) surdsi

) J.S. 1hlev

"Wages as a sum of money are paid under contract by an employer
to a worker for services rendered' -Who said this?

a) Benham
b) Marshall
c) Walker
d) J.S.Mill

14. wa a6t Ggremauilev 19219410 eumL_b @)susurm HPlwiiLGE ).
<) Anlw Lfleilenesr eupLLd

) L&H&H6T CHTens Cleulg il euhL LD

B) BHTOWIDTSHE eu(HL LD

) QoL flallewesr supL LD

The year 1921is known as .....
a) Year of small divide
b) Year of Population Explosion
¢) Year of Urbanisation
d) Year of Great Divide

15. 1956631 G mifih G Tsrendsullst Gprdasin
<)) Quiflu plpieusTiigeen (psirGarhniaig)
94) Gausrragimpanw wi G WaTCaThHIS
3) sefluri giwpaw WG WYaTCarhpiug

) GlgenFSH CBTiflevsemer LB 1peTGeThHmieug)

The objective of the Industrial Policy 1956 was ........
a) Develop heavy industries
b) Develop agricultural sector only

c) Develop private sector only



d) Develop cottage industries only

16.GST uiled oyfsurs aufaliy 2451
2. 18%
4. 24%
@). 28%

. 32%

The highest rate of tax under GST is
a) 18%
b) 24%
c) 28%
d) 32%

17. #pmi(A): Qs flH % TeiTem s 1991 wirewr g @) bSWLIGILIT (6T S T & Bl6V
STTTOTLOWILDT S5V UL GHTedluig).

sryewrd  (R): 1991 o0 gewrgm@ ety  eweur G rifleeueridFClog eumrs

SHIewTLILIL_L_G).
o) A womib R Gresr®id #if Cuepib Assrer sflwrer aflenésip R
<) A wpmid R @) resst®id &l permev Adsmen Fiflwmrest aflerdasid R () svemsv
B) A sifl gyerred R oum

) A seum) opeormev R &ifl

Assertion (A): Industrial policy -1991 initiated liberalization of Indian Economy.
Reason (R): Industrial growth was very slow before 1991.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is NOT the correct explanation of A
c) Ais true but R s false.
d) A is false but R is true.

18.Baflw 2arys Hev SyewLoliL 6Thg 26euT(h QLGS L L g7
<) 2000

=) 2005



@) 2010

&) 2015

Identify the year in which National Rural Health Mission was launched.
a) 2000
b) 2005
c) 2010
d) 2015

19. 0p BT 19 65T 6THG LOTeUL L GGV LiTedlest allSlgLd HSHL0rs 2 sireng)?
) BTSHLILIL 1965TLD
23) Foosif
Q) Hwss
) SEHFTRYT
Which district in TN has the highest sex ratio?
a) Nagapattinam
b) Nilgiris
¢) Tiruchy
d) Thanjavur

20. Ifx+y =5 wpmib x-y= 3 eresfle x= ?
=) 4
2) 3

3) 16
) 8

If x+y = 5 and x-y= 3 then x =

a) 4

b) 3

c) 16

d 8
UGS - 24
PART - B

TCamIid 71 aflaTTESEmSE allenL_weaflssayid. aflerT eranr 30 &1L Tw eflerr.



Answer any seven in which Question No. 30 is compulsory. 7Tx2=14

21. Qumrmeflwedlesr Lilifleysssir wiremeu?
What are branches of Economics?

22.59m uswrL_ggletr allemsv I 50a9phgh X 30955 GHomSTDG.  (B)H6THTIEBILOTS
uenTL_Sglewest eurmi@d emey 200 0@ sefedlhhbg 220 gev@GHarTs S5 MdbHTmG).
allewev GHemeu GBS pFFlewiwt &ewTdh (s

The price of a commodity falls from %.50 to %.30, resulting in an increase in the

purchase of the commodity from 200 units to 220 units. Calculate the price
elasticity of demand.

23. ggrefl wHmib GmiFFlewe 2 MHuss) @eunBléaslen, CQuwrer CgrLiLlswer Tl (Hs
Bring out the relationship among Average and Marginal Products.

24, o1pS LI’ L G\F6eV6y 6TETMT6V 6T6dT6HT 7
What is meant by Sunk cost?

25. aflemev eTMLIGUT 6TEdTLIOUT WiT?
Who is price-taker?

26. @nglurailsr ureder allals 9L ausnentenwt Lyidbd] GlFiiss.

W& &6 ClBTems HeTd6ls(HLIL) 6u(HL LD ureder  allslgd 1000 g ewseEnd@
ClLiessTH 65T  6T6V0T 63T 56 5

1951 ?

2001 2

2011 ?

Fill the sex ratio of India.

Census year Sex ratio

(Number of females per 1000 males)

1951 ?
2001 5
2011 ?

27. &3HITD YWLusMHEG et @blwrallsy sTewTliul L LLCaIM UMBWITET BleV
2 _GHLEHLD (LPEDMSHET WTeM6u?
Name out the different types of land tenure existed in India before independence.

28. ApLliyl) QUTHETTSTT LOGISTL 6VLD 6T6dTLIG 6T OLIT(HEIT 6T63T60T 7




State the meaning of special Economic Zones.

29. x = 20 - 2p - p? arerug GaTRESLUL L CHemeudasriurg. @me@ P whmid X
storerr  (pewCw  aflewev HMID CHewen erailewesr GmlE@n. P = 2.5 eresflsv
Cp&HlpFHewuid &resTs

The demand function is given by x = 20 — 2p — p2 where p and x are the price and
the quantity in demand respectively. Find the elasticity of demand for p = 2.5.

30. Wereugpds  Qumrmenrarrs HAhsemersemer GeuaflliL@sSw @)bLw GurmerTsTy
9 Blepiasaflest QLwiTsemerd @&mliL(Hs%

) @ BrH BT CFVeH®aTS S (HdbEGH6T MaUSHH (HHEGLD LIL FSB60 BT 61 (HLOTEITLD
GHODAUTS B)(HHSHTEVILD LITSH% LDV 6V

) @BHwT G sTrisafler BrLrs @) wriuens el senipseflsst BrLma @) ®LLGs Gosv
3) gwpsEmear BrsssSNE 2 Mweuisearms W QD LUTTESTOL 2 MenLdsT eupBISLILIL
Gouswnrig weuiHerTs LTisHds Gouesdt(hLb

Find out the names of Indian Economic Idealogists:

a) “It is not a great misfortune for a state if its revenues are limited, provided the
Expenditure is kept within bounds.”

b) He felt that it was better for India to be poor that to have thousands of
drunkards.

c) He has focused on the poor, viewing them not as objects of pity requiring
charitable hand — outs

LGS - @
PART - C
gCassmiid 7 allerrssEndsa Wi (B allewL_weflEsa b
aflesrm eteuor 40 &1 L_mw efleorm (7x3=21)
Answer any seven questions’ in which Question No.40 is compulsory.

31. miewremilwed whHmid Cumwed Gumrmeflwed @)ewr Cuiwiresr GeumiLmrBs6r wreneu?
Distinguish between microeconomics and macroeconomics.

32. aflewsv pliewrullliuieui wHmMIb allewsv erHueui @euHenm CeumiLiBHSsHI%

Distinguish between Price — Maker and Price — Taker?

33. eumiiliFClFevemeu sue»TWIMI. HBDE THSHISSHTL DD H(Hb

Define opportunity cost and provide an example.

34. allhuenerd CFev6y 6TATMTEV 6T6IT6IT ! 2 _GTTewTSHGIL 63T ailemd @

State the meaning of selling cost with an example.

35. pieww allpliLgglesr Qurmer wrg)?
State the meaning of liquidity preference.



36. Qu@sa smHwsiLnsl V.KR.V rreu uskisefllifener stwpgis
Write the V.K.R.V.Rao’s contribution on multiplier concept.

37. susnila sumiFlser Caflw WTESLILL L $HBTET STrenThIHeend @&nLLl(Hs
State the reasons for nationalization of commercial banks.

38. 2 V& LWTEHSHE CGTLTLITSE TRGHLILIL L BL 6UIgHenEHEe»6T allauf]

What are the measures taken towards Globalization.

39. SHG ulletr LT SHEWETS In M5
Mention the features of SHGs.

40. aildls gerey ailswerey ailglullsr LOGsum Blewevosewar L L susnewtuiled Hbgl allerd @s.

2 _ewipLiL) (VG SH6T) CLPEVSITLD (D)6 (&5 6iT) QrHs 2 HusFH

1 2 4

2 4 11
3 6 19
4 8 29
5 10 39
6 12 49
7 14 57
8 16 63
9 18 67

Mention different stages of returns to scale.

Labour(Units) Capital(Units) Total Product
1 2 4
2 4 11
3 6 19
4 8 29
5 10 39
9 12 49
7 14 57
8 16 63
9 18 67
UG - FF
PART -D
ST Gl NTTESEEHDS D ailenL_wiefl: (7x 5 = 35)

Answer all the questions

41. (o) Qumr@meflwed uHpPlw LLCaum| @vEHemrhisemear LIl (h CoumiLBHd 5.




(osbevg)
(=) msTGeuri spmeui spm mrefled liileTEemar BisTUST HeU(hdbE BlewL & ELD
Qursss  uweturT@®  CQBTHSSLILIL (HeTerg). @miglplewsv  LweTLITL 14 D& Tesr
I L suswentenwt SwWri GFis. bmsTCeaur(hdhE@ LaTsSler @midlBlewsv LweTur@h I 8
T 2 6TareuTml BISTGeuri Fwplewevulled ersusuarey LIl 6UTBIGHEUTH 6TEOd & T6NTH

(T 0@ g Liiler allewsv X 2 e16515)

o LiLller gerey | GorssLiLiwesTLr(h
20
38
54
68
80
90

NG| P [WIN|—

a) Compare and contrast various definitions of Economics.

(OR)
b) A consumer’s total utility of apples consumed per day is given below. Derive the
marginal utility schedule. Also find out the quantity of apples the consumer will
purchase in his equilibrium given that marginal utility of a rupee for him is X.8.
Price of the apple is ¥ 2 per unit.

Quantity of Total
apple Utility
20

38

54

68

80

90

NP [ W|IN|—

42. o) wesflg allpriukiseflsr &)wsdLsHeT wreneu?
(oysbsvg)

9) GHwDHG CFL GmiSlBlewsv LwesTLTL (h allFlewwr euenrLL ggL et alleur]
a) Describe the feature of human wants.
(OR)

b) Elucidate the law of diminishing marginal utility with diagram
43. 9)) F0 9jemey 2 MLIGHE CHTL g 60T LIGHTL|HEWET UeDTLIL &g)L 65T alleul.
(Spsvevg)

<) CwrssselFevey = 10+Q3 stesflev Q=5 erembGurgy AC, AVC, TFC wmmib AFC

a) List out the properties of iso-quants with the help of diagrams.



(OR)
b) If total cost = 10+Q3, find out AC, AVC, TFC, AFC when Q=5.

44. o) womiflewwts  Gumriiiguiled ereusurm ailewsy  wWHMID 2 MHLSGH
Fiwrefsasiu®Smag?

(oeve051)
D) YdSTdHa @)evTudhCHrLLrl L &H(HSSLOTH allerd @%.

a) How price and output are determined under the perfect competition?

(OR)
b) Describe briefly the Innovation Theory of Profit.

45. ) @QpFlw CUTHaTTHTTSS)6T eusPieuTerT bFmiGenar aileuif].

(oysbev51)
) @hFHw LbBSTETH SLkisafler GFwsvLTHHmer alleur.

a) Explain features of Indian economy
(OR)

b) Describe the performance of any 5- five year plans in India.

arey

46. o) 2015 - 202000 eyewrgHasTET  HMILS — @MEGLSH Q& merenguilssr

Aptiflweoysemer aflerd s

(Sfsvev51)

) 291y GIUITHETTHT IS 6T LiswTL o6 ailflsSlrmerene aileurs

a) Describe the salient features of EXIM policy (2015 — 2020)
(OR)

b) ‘The features of Rural Economy are peculiar’- Argue.

47. w&ser CFTenssuilet HrwTer bFnisemar aileul.

(Sfsvev51)

9) UMSBEH6% LY Hewlls Wewmenwls LweTu(BHdbd Cohemeud Fwerur@® £ =60 - 0.2Q

%% @) mEse Curg (i) P =0, (i) P =20, (i) P = 40 etermmsv Cgemeu Gpaslipdd

& I &TevTS.



a) Describe the qualitative aspects of population.
(OR)
b) Calculate the elasticity of demand for the demand schedule by using

differential calculus method P = 60 - 0.2Q where price is i) P = O, (ii) P = 20,
(iii) P = 40



